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2. Try to answer the following questions about the asymptotes of hyperbolic curves ?

You can answer in either Chinese or English.

(1) Given a hyperbola y = f(x) = il +3 , find the focal point within the first quadrant ? (5%)
X+

2 2 2 2 2
(x+1) _y_zljy_:M_ljizi (x+1) —1 > When X
16 9 9 16 3 16

(2) Given a hyperbola

(x+1)
4

approaches infinity, neglecting-1==>Take = % =+ as the two asymptotic lines.

Student A may ask: why not neglect +1 as well and take % =+ — as the asymptotic lines?

X
4
What would you answer him/her? (5%)

3. Try to use basic differential aspects (ex. ascending /descending sections, concave up or down,

extremes, inflection points....) to figure out the general profile and its corresponding conditions
of the following quartic polynomial y = f(x)=ax*+bx*>+cx® +dx+e > (# ® a>0) (10%)

You can answer in either Chinese or English.
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